
Order of Operations Name:

Evaluate

Show your work

Evaluate

Show your work

Evaluate

Show your work
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5
4 ÷ (3+2) =?

50 125

10 210

43 ÷ (4+4) =?

20 10

8 16

3
2 ÷ (2+1) =?

3 9

2 6

#1

#2

#3



Order of Operations Name:

Evaluate

Show your work

Evaluate

Show your work

Evaluate

Show your work
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2
2 ×(33+26) =?

4 62

106 212

42 ÷ (3+5) =?

28 10

20 2

3
4 ×(62+25) =?

183 891

4941 105001

#4

#5

#6



Order of Operations Name:

Evaluate

Show your work

Evaluate

Show your work

Evaluate

Show your work
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4
2 ÷ (2+2) =?

10 4

24 12

4
2 × (43+24) =?

1408 352

280 640

5
3 × (43+69) =?

−625 16625

665 8069

#7

#8

#9



Order of Operations Name:

Evaluate

Show your work

Evaluate

Show your work

Evaluate

Show your work
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4
3 ×(33+29) =?

3584 −128

224 1757

44 ÷ (6+2) =?

34 32

8 45

3
4 × (52+1) =?

1944 78

2106 50626

#10

#11

#12



Order of Operations Answer Key

Question Answer

#1 choice 2

#2 choice 3

#3 choice 1

#4 choice 4

#5 choice 4

#6 choice 3

#7 choice 2

#8 choice 1

#9 choice 2

#10 choice 1

#11 choice 2

#12 choice 3
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